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Addressing Misconceptions in Simplifying Rational Expressions

Part 1: For each scenario below, state whether you can or can not simplify as shown. Provide an example with numbers
(don’t choose 0 or +1 for your variables) to prove your point and then explain your choice in your own words.

Scenario (circle yes or no)

Example with Numbers for Support

Explanation

x
<,y+1\_1+1

5 ? 1
QB‘ 541 = 1+1
N

52K
N 2

—

6

The (A1) 15
g(b\weo\ hgedhed.

7 ]
x+1 1+1 ool 2z [The (i) s
= 5 \ V\Yﬁo‘ 4’\)9-2;”«0/.
X | o , T4 ww\A%wwe
YES of NO = < g ¥ T8 _
¥es of N0 ) 5 X5 domg 28 5
51*7-(4\‘*' z L(G\*\ Same af lpvib‘f +wo,
(+2x+1) _2x+1 | ST.q@)-¢ ~ H6)E ¥* it part of &
(x*+4x—8) 4x-8 " W Liggesr expression.
Eor@ ”S_q_, X (R
(5*'\ L (X+|) a e Some
(»X/'(r) _l (6+1)(5) eXprisiilme or- 0 He
N B oppufite <ides o
(x+hx  x L - 5 stfw BrachHon
@ | P
5 75
5 M - + - (K*’\\ are nst o ppyvsike
e 1 (5 1) Y T S+2 SideS of e sane E'r;mﬁovn.
o 1 s, 6 - T4 wald be Kke deing e
e - S A P I
Z'3 7 3
o) e
~ / 3>
x LA _x | § %/—SL = 155 XM (::Q'\ and (i 1)
(b (x+2) 1 x+2 on
Ja MOHZ) oy\m)ﬁk sidef
GV oL - of Mo Came
@ e —E i Coards o
N

N\
N TOCATOV




Part 2: Now, come up with two examples of your own (they can both work, both fail, or one of each). Then,
switch with another group and have them answer the ones you came up with.

Scenario (circleyesorno) | Example with

Numbers for Support Explanation

YES or NO

YES or NO

@ Finally, come up with a general rule/description for when you can simplify rational expressions. Write
7

ule/description below.

Now, go through the six scenarios on the front page and verify that if someone followed your rule, they would

correctly simplify each rational expression.

Scenario

Why Your Rule Works for This Scenario
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